
1973-78 "CK"
1. NUT (5/16"-18).................
2. W ASHER  (5 /1 6 ") ..............
3. BRACE ASM , Wheel Carrier
4. SCR EW  (5/16"-18 x 3/4") . .

S ID E M OUNTED WHEEL CARRIER  (FLEETSIDE)
8.915 5. B O L T ..........................................
8.931 6. N U T .............................................
7.629 7. W A SHER  (11/32" ID x 11/16" OD x
8.977 3/16" Thk) .................................

8. BOLT (5/16"-18 x 7 /8 " ) ................

7.632
7.633

8.929
8.903

T7-32

1973-78 "CK" S IDE  MOUNTED W HEEL CARR IER  (STEPSIDE)
1. SUPPORT A SM , F ro n t.......
2. SUPPORT ASM , Rear Upper
3. W ASHER  (5 /1 6 ") .............
4. BOLT (5/16”-18 x 1 " ) ........
5. GRO M M ET (5 /16")............

7.629 6. N U T ................................
7.629 7. SUPPORT A SM , Rear Lower
8.932 8. W ASHER  (11/32" x 1 1/4")
8.900 9. NUT (5/16"-18 ) ............................
9.775 10. PLATE, W/Brace A sm ..................

7.633
7.629 
8.929 
8.915
7.629

------------ WAREHOUSING AND DISTRIBUTION DIVISION OF GENERAL MOTORS CORPORATION-LT TRUCK— 51A ----------
7 . 0 0 0 - G R Q U P  7-20 (2 -8 3 )


